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QUESTION 1

During the Write phase of RecoverPoint replication, when does the write splitter send an acknowledgement back to the
host that initiated the write? 

A. As soon as the splitter received the write 

B. After the splitter has received an acknowledgement from the RPAs 

C. After the Distribution phase has completed 

D. After the splitter has received an acknowledgement form the production LUN 

Correct Answer: A 

Reference: https://community.emc.com/thread/169861?tstart=0 

 

QUESTION 2

A storage administrator is creating a Consistency Group using Unisphere on RecoverPoint/EX. After defining the
production volume and Journal, the next step is to select the copy volume. Based on the exhibit, what determines the
volume size displayed by the wizard as a choice of copy volumes? 

A. Volumes that are created on the selected array and masked to the backup host 

B. Volumes that are the same size and attached to the selected write splitter 

C. Volumes that are masked to the selected cluster and the same size or larger than production 

D. Any volume that is provisioned to the selected cluster from the same array type as production 

Correct Answer: D 
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QUESTION 3

What is determined by setting the priority level on a Consistency Group (CG)? 

A. Amount of time before sending an automated notification stating a watermark has been reached 

B. Amount of bandwidth allocated to the CG in relation to all other CGs using the same primary RPA 

C. CG(s) that requires the most resources from the primary RPA, regardless of other system activity 

D. Order in which the CG will begin replication in the event a failover occurs 

Correct Answer: C 

 

QUESTION 4

A storage administrator has one production site and one remote site. The administrator configured the RecoverPoint
with VNX (SE) cluster at both sites. The current environment has two Consistency Groups configured with two copies
each; one production copy and one remote copy. Based on the company\\'s growing business requirements, the
administrator has been asked to keep a local copy of the production data. 

Which action should occur in order to meet this requirement? 

A. Add a copy into the existing Consistency Group for a local replication 

B. Delete and reconfigure the existing Consistency Group for a local and remote replication 

C. RecoverPoint with VNX (SE) does not support more than two copies in a single Consistency Group 

D. Upgrade the RecoverPoint with VNX (SE) license to RecoverPoint/EX and then reconfigure the Consistency Group 

Correct Answer: D 

 

QUESTION 5

A storage administrator has created a new Consistency Group with a remote copy. After enabling the new group, the
administrator notices several other Consistency Groups are experiencing high load alerts. What is possible cause for
the high load conditions? 

A. Initialization is consuming all the WAN bandwidth 

B. Journal pool for the new Consistency Group is undersized 

C. Journal pool for the new Consistency Group has poor performing storage 

D. Not enough licensed replication storage is available for the new Consistency Group 

Correct Answer: B 
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